
1 / 6 

All Tool
Highlight



2 / 6 

ITEM CODE REF. NO DESCRIPTION QTY REMARK 
1 3014450 Rilsan hose 6X4 L=1500 1 
2 4195524 Union D.6 2
3 3010896 Spiral hose 6X4 D.40 blue 1 
4 3014817 YCP-3014817 Union connecting plate 1 
5 4398723 GB/T5783 Screw 6X12 8.8 11 
6 4399998 GB/T96 Washer D.6 9
7 3008820 YCP-3008820 Cover 1
8 3000599 GB/T70.1 Screw M10X50 1
9 4198993 Union 1/8” - 6 1
10 4399976 GB/T6170 Nut M8 1
11 6609013 YCP-6609013 Limit stop screw support 1 
12 4397527 GB/T70.2 Screw M8X30 1
13 4399827 GB/T5783 Screw M8X20 8.8 1 
14 3014458 Rilsan hose 6X4 L=650 blue 1 
15 3014457 Rilsan hose 6X4 L=1100 black 1 
16 4399967 GB/T6172 Nut M10 1
17 4398901 GB/T5783 Screw M10X25 1
18 4395502 GB/T5782 Screw M16X160 8.8 1 
19 4399828 GB/T97.1 Washer 16 2
20 3009014 YCP-3009014 Limit stop spring 1 
21 4399963 GB/T6182 Self-locking nut M16 1 
22 4399966 GB/T5783 Screw M10X20 8.8 3 
23 3002311 YCH-3002311 Washer 2
24 2408981 YCP-2408981 Slide 1

All Tool
Highlight


